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18 52.5 P1 for start of process to find length of AC, Check diagram for working
1 i 1 . throughout
eg E><17>< AC xsin35=54 or (AC =) 54+(§><17><sm35) (=11.076...
P1 for start of process to find AD or CD, Throughout "75"=180-48-57
AD "11.076" AD [AC] [AC] must be a numerical value and
g sind8  sin57 oe or sind8 _ sin57 o ;:rl]ea(;!y identifi_ciﬁ by Iabcilligg tqr on
cD  "11.076" cD [AC] e diagram with no contradiction.
or — =— 0e or — == oe
sin"75"  sin57 sin"75" sin57
P1 for complete process to find AD or CD
"11.076" . A .
(AD =) — 076 xsin48(=9.81...) or (AD =) [_—C]xsm48
sin57 sin57
"11.076" . A .
or (CD =) _0 6 xsin"75"(=12.7...) or (CD =) [_ €l xsin"75"
sin57 sin57
P1 for process to find area of triangle ACD, [AC], [AD], [CD] must be numerical
1, . v o 1 _ values and clearly identified by
1 1 contradiction.
or Ex"11.076">< "9.81"xsin"75" or EX[AC]X[AD]xsin"75"
1 n ", " L1} H 1 H
or EX 9.81"x"12.7"xsin57 or Ex[AD]x[CD]xS|n57
Al for answer in the range 52.4 to 52.52 If an answer is shown in the range in

working and then incorrectly
rounded award full marks






